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SECTION—-A (8 x 5 = 40)

Answer any EIGHT questions.
All questions carry equal marks.

1. What are the causes for increasing population
in India?

2. Explain the kinds of unemployment.

3. Explain the role of agriculture in Indian
Economy.
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What are the problems of agricultural labourers?
Explain the problems of small scale industries.
Explain the concepts of National income.

Discuss the importance of foreign trade in
economic development.

Explain the sources of Industrial finance.

What are the basic weakness of Indian Trade
Union Movements?

What are the causes for poverty?

SECTION-B (3 x 20 = 60)

Answer any THREE questions.
All questions carry equal marks.

What are the causes for low productivity in
agriculture?

Explain the basic features of under development.
Analyse the trend of National income in India.
What are the measures to remove poverty?

Explain the factors determined Green
Revolution.
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